22.12.2010

10 9290 — PN TINNIN

Jdatm -y 80K -2 nr7wa minsmy (Sym) 79599 13101 (Sg) 12127 10790

S =S

3
AV =045 AF =903 o

mPSnnn My
mol mol

YN YW AH -1 AV -w nrnna ,1200atm S N9 93ynn NIvI9N1L NN 1IWN
.(N71V9HVA DMON XY NIVIN NNT) DI

MOLXVYN NNN .MAPY MOLIWA 5772 TT2) NN M Yy¥a ©YITN DY DTN \ND
51100 777 MI9DNLN XNDA VWA 1PN DY ITYITH NIND NIV DY NODIAN MYAIPHN
STPYDNA PRMNY 99NN HPWn NPT

geraniol 777 17230 110°C S¥ 111107900 M9PILR YN 1PN 5x10%cm? Jwno
0.4gr 7>~ geraniol ,(C1oH150 m>v9nN 8noY ; 148.4gr mol™ »M5p9m Spwn)

.0.2gr Sv Ypwn TN mn 140°C -2 390 1x10%cm? mayna avpwnn

(atm -1) 140°C -1 110°C -2 geraniol Yv 0>T8n *3NS NX¥IWN .
NTRY NI9NN MAYMIND NN VN b

DI9DINLN YN NNPNIN NNVINNYV NR WD .C

3270Pa -1 -30°C Sw n1vranva 299Pa xin CsHg X 1132 HW DY TR N9
.30°C-1 15,800 Pa-1 10°C-1 6170Pa a1 %91 1331 Yw o1 ¥nY .0°C n1vnanva
:INIVN PN ONIIN

A2 5v NYOwWNN NTIPIN .N

A2 5V NONNN NYAOMN A



